PrintPreview

http://www.tornadovac.com/ezpartsweb/PrintPreview.aspx?l ma...ac.com/ezpartsweb/Handl ers/Getl mage.ashx ?LinkRel|d=11827& & 10/6/2010 4:40:31 PM



PrintPreview

’ No. ‘

1 X9180+
2 PD3C+
3 X9098+
4 X8260+
5 72719A
6 X9183+
7 X9189+
8 X9195+
9 X9240+
10 72020A
11 X9181+
12 X8209S+
13 X9065+
14 X8990N+
15 X8848+
16 X9190+
17 72721B
18 X9048+
19 X9262+
20 X9188+
21 X8926+
22 PD8+

23 X8008N+
24 X9182-6+

25 F631+

26 72470A
27 PD3B+
28 X9181-2+
29 71912A

Number

Qty

PRRPRRPRPRPRPRPRPRPRPRPRPRPRPRPRRPRPRPRRPRRPRPRPRRPRERRERR

Description

HOUSING F5 AXIAL FAN BLACK

FOOT BLACK RUBBER N/S DRYER HANDLE SHORT

SCREW A POINT PH PAN HD #10X1

NUT 8-32 LOCK W/NYLON INSERT

BRACKET AXIAL FAN MOTOR F5

GRILL F5, AXIAL FAN

Label, Round (at Grill)

CASTER RECEIVER F5, AXIAL FAN

4 X 15/16 SWIVEL CASTER

SCREW SELF-TAP PHMS ZINC #12 X 1"

MOTOR 115VAC .25HP 4 POLE F5, AXIAL FAN W/THRUBOLTS
1/4-20 X 1/2" SERRATED HEX SELF LOCKING FLANGE SCREW
SCREW HEX SOCKET CAP 1/4-20X1 FACTORY BLACK
HANDLE/WHEEL ASSEMBLY NARROW AXIAL FAN (2 PER BOX)
JACKNUT 1/4-20 STEEL #8LJN

Label, Product at Top, Axial Fan

PANEL SWITCH EURO F5 AXIAL FAN

SWITCH ROCKER SPOTTER

CIRCUIT BREAKER 5A F6 AXIAL FAN

SCREW 6-32 X 3/8" BLACK MS

20' HD 3 WIRE CORD 16/3 SJTW 115 VOLT (NEW DRYER)
STRAIN RELIEF 1/2" NPT SCE

NUT LOCK 1/2" STEEL CONDUIT APPLETON

FAN BLADE ASSEMBLY F6 AXIAL 6 BLADE

Round Belt

HEAT SHRINK BLK 1/2" X 200" FLEXIBLE POLYOLEFIN
DRYER FOOT N/S DRYER TALL

Motor, 230V, 25HP 4 Pole

Cord 14/3 35' Black w/ Euro Plug

http://www.tornadovac.com/ezpartsweb/PrintPreview.aspx?LinkRel | d=1182710/6/2010 4:40:49 PM




	windsheardowndraft98784-1
	tornadovac.com
	PrintPreview


	windsheardowndraft98784-2
	tornadovac.com
	PrintPreview



	MJIICPMAKECFKPKEBPFPEPKINDHFJBFI: 
	form1: 
	x: 
	f1: dDwtMTc1NjYxNjA2MTs7Pn0Y3xJhq15TqNwBKUmg201N5U0O



	HGPIMICFDPHGNDHOPEFJALLAEKLKFJPK: 
	form1: 
	x: 
	f1: 
	f2: 
	f3: dDwtMTc1NjYxNjA2MTs7bDxiU2hvd1ByaWNpbmc7Pj5FobUwJ54UaLQJY3c8a8Ig2n//2A==





